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Q1 Given below are two Statements — One is labelled as Assertion (A) and other is labelled as
Reason (R) :
Assertion (A): Use of slang in formal teaching makes communication lively and
interesting.
Reasons (R) : Academic decency demands the avoidance of slang in the classroom
environment.
In the light of the above statements, choose the correct option :
(48] Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3 (A) is true, but (R) is false
(4) (A) is false. but (R) is true
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759991
Option 1 ID : 61547538957
Option 2 ID : 61547538958
Option 3 ID : 61547538959
Option 4 ID : 61547538960
Status : Answered
Chosen Option : 4
Q2 In which of the following formats ‘Chapter Scheme' of the document has to be formally
approved by a research degree committee in the university?
(1) Thesis/dissertation (2) Seminar papers
(3) Research articles (4) Research monographs
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759985
Option 1 ID : 61547538933
Option 2 ID : 61547538934
Option 3 ID : 61547538935
Option 4 ID : 61547538936
Status : Answered
Chosen Option : 1
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Qs Which of the following sampling procedures will be appropriate for conducting researches
with empirico-inductive research paradigm?
1) Simple random sampling procedure
(2) Systematic sampling procedure
(3) Stratified sampling procedure
4) Any of the non-probability sampling procedures
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759984
Option 1 ID : 61547538929
Option 2 ID : 61547538930
Option 3 ID : 61547538931
Option 4 ID : 61547538932
Status : Answered
Chosen Option : 1
Q.4 Which of the following statements differentiate teaching from learning?
(a) Teaching is a =ocial act while learning is a personal act
(b) Teaching implies learning
() Teaching is like selling while learning iz like buying
(d) Teaching can occur without learning taking place
(e) In teaching. influence is directed towards learning and learner. while in learning it is
usually towards oneself
Choose the correct answer from the following aptions :
(1) (a). (c) and (e) (2) (a) (byand (c)
(3) (b). (c) and (d) (4) f{e). (d) and (e}
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759978
Option 1 ID : 61547538905
Option 2 ID : 61547538906
Option 3 ID : 61547538907
Option 4 ID : 61547538908
Status : Answered
Chosen Option : 1
Q.5 . . ; . .
Which of the following are classroom related factors that influence effectiveness of teaching?
(a) Prior task related behaviour of students
(b) Adherence to linear pattern of communication by the teacher
() Socio-economic status of the family to which learners belong
(d) Inappropriate use of technological resources by the teacher
(e) Cultural background of students
Choose your answer from the following options :
1) (a). (b) and (c)
@ (b). () and (d)
(3) (a). (b) and (d)
4)  (c).(d)and (e)
Options 1. 1
2.2
3.3
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4.4
Question Type : MCQ
Question ID : 6154759979
Option 1 ID : 61547538909
Option 2 ID : 61547538910
Option 3 ID : 61547538911
Option 4 ID : 61547538912
Status : Answered
Chosen Option : 3
Q.6 A researcher intends to make use of ICT in his/her research. What considerations should
weigh most in such a decision?
(a) Appropriateness of the tool used
(b) Cost involved in procuring it
(c) Availability of tools in the department where research is to be undertaken
(d) Willingness of his/her supervisor to offer help
(e) The company from which the ICT equipment has been procured
Choose your answer from the following options :
(1) (a). (b) and (c) (2) (c), (d) and (&)
(3) (a). (c) and (d) (4) (b}, (c) and (e)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759983
Option 1 ID : 61547538925
Option 2 ID : 61547538926
Option 3 ID : 61547538927
Option 4 ID : 61547538928
Status : Answered
Chosen Option : 3
Q7 = : ; j
The sum of a number and its inverse 1s —4. The sum of their cubes 1s :
1 -52 2 52
(3) 64 (4 —64
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759994
Option 1 ID : 61547538969
Option 2 ID : 61547538970
Option 3 ID : 61547538971
Option 4 ID : 61547538972
Status : Answered
Chosen Option : 1
Q8 A certain principal invested at compound interest payable yearly amounts to Rs. 10816.00 in
3 vears and Rs. 11248.64 in 4 years. What is the rate of interest?
(1) 3% 2 4%
(3  4.5% 4) 5.5%
Options 1. 1
2.2
3.3
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4.4
Question Type : MCQ
Question ID : 6154759995
Option 1 ID : 61547538973
Option 2 ID : 61547538974
Option 3 ID : 61547538975
Option 4 ID : 61547538976
Status : Answered
Chosen Option : 3
Q.9 X 5 . .
Which of the following is converse of ‘Some 3 13 P'?
(1 Some Siznot P (2) SomePisnotS
(3) Some Pis S (4) NoPisS
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759999
Option 1 ID : 61547538989
Option 2 ID : 61547538990
Option 3 ID : 61547538991
Option 4 ID : 61547538992
Status : Answered
Chosen Option : 3
Q.10 Which one of the following fallacious hetu (middle term) is not uniformly concomitant with
the major term?
(1) Asatpratipaksa (2) Auyatireki
(3)  Anyonya-Asiddha (4) Suyabhicara
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510000
Option 1 ID : 61547538993
Option 2 ID : 61547538994
Option 3 ID : 61547538995
Option 4 ID : 61547538996
Status : Answered
Chosen Option : 4
Q11 A research scholar while submitting his/her thesis. did not acknowledge in the preface the
help and support of the respondents of questionnaires used. This will be called an instance of
(1) Technical lapse Wilful negligence
(3) Unethical act Lack of reapect
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759986
Option 1 ID : 61547538937
Option 2 ID : 61547538938
Option 3 ID : 61547538939
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Option 4 ID : 61547538940
Status : Answered
Chosen Option : 4
Q.12 A university teacher plans to improve the study habits of students in his/her class. Which
type of research paradigm will be helpful in this regard?
(1) Evaluative research paradigm (2) Fundamental research paradigm
(3) Applied research paradigm (4) Action research paradigm
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759982
Option 1 ID : 61547538921
Option 2 ID : 61547538922
Option 3 ID : 61547538923
Option 4 ID : 61547538924
Status : Answered
Chosen Option : 4
Q.13 . . . - .
Which of the following types of assessment 18 conducted periodically with an eye on
standardsa?
(1) Formative assessment (2) Summative assessment
(3) Portfolio assessment (4) Performance assessment
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759981
Option 1 ID : 61547538917
Option 2 ID : 61547538918
Option 3 ID : 61547538919
Option 4 ID : 61547538920
Status : Answered
Chosen Option : 4
Q.14 Consider the following argument :
Statements : Some chairs are curtains.
All curtains are bedsheets.
Conclusion : Some chairs are bedsheets.
What 1s the Mood of the above proposition?
(1) IAT (2) TAA
(3) 1A (4) AII
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759998
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Option 1 ID : 61547538985
Option 2 ID : 61547538986
Option 3 ID : 61547538987
Option 4 ID : 61547538988
Status : Answered
Chosen Option : 1
Q.15
If 3% of (a+b) = 7% of (ab)
and 5% of (a—b) = 4% of (ab).
then what percentage of b 1s a?
47 23
(1) —Y% 2) —%
23 47
4700 2300
@ A% (4) %
23 47
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759993
Option 1 ID : 61547538965
Option 2 ID : 61547538966
Option 3 ID : 61547538967
Option 4 ID : 61547538968
Status : Answered
Chosen Option : 3
Q.16 . . _— . .
‘Which of the following modes of communication can be employed 1n a classroom for effective
teaching?
(a) Top-down
(b) Iconic
(c) Assoclational
(d) Dissoclational
(e) Symbolic
H Abstract
Choose the most appropriate option from the following :
(1) (a), (b) and (f) (2) (e} (e)and (B
(3 (b). (c) and (e) (4) (a). (¢) and (d)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759990
Option 1 ID : 61547538953
Option 2 ID : 61547538954
Option 3 ID : 61547538955
Option 4 ID : 61547538956
Status : Answered
Chosen Option : 3
Q.17
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(o}
2
3)
(4)

Which one of the following hetwabhasa (fallacy) 1s involved in the argument. “Sound is
element because it is caused™

Viruddha or contradictory middle
Satpratipaksa or inferentially contradicted middle

S;.dhyasama or the unproved middle

Badhita or non-inferentially contradicted middle
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759997
Option 1 ID : 61547538981
Option 2 ID : 61547538982
Option 3 ID : 61547538983
Option 4 ID : 61547538984
Status : Answered
Chosen Option : 3
Q.18

A verbal communication technique used 1n teaching 1s
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(1) Slow expression of words
(2) Varying the speed of voice and tone
(3) Presentation without pause
(4) Besorting to semantic jugglery
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759989
Option 1 ID : 61547538949
Option 2 ID : 61547538950
Option 3 ID : 61547538951
Option 4 ID : 61547538952
Status : Answered
Chosen Option : 2
Q.19 . . . . . . .
In a certain coding language. ‘AEIOU is written as ‘TNHDZ. Using the same coding
language, ‘BFJPV" will be written as
(1) UOIEA (2) AEIOU
(3) CGEQW (4) WQEKGC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759992
Option 1 ID : 61547538961
Option 2 ID : 61547538962
Option 3 ID : 61547538963
Option 4 ID : 61547538964
Status : Answered
Chosen Option : 1
Q.20
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Information overload in a classroom evnironment by a teacher will lead to
(1) High level participation (2) Semantic precision
(3) Effective impression (4) Delayed feedback
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759988
Option 1 ID : 61547538945
Option 2 ID : 61547538946
Option 3 ID : 61547538947
Option 4 ID : 61547538948
Status : Answered
Chosen Option : 4
Q.21 . . . . . .
In which of the following types of learning materials. the presentations are highly structured
and individualised?
(1) Texthooks prescribed by the universities
(2) Journals and the articles recommended for readings
(3) Writings of great thinkers selected for reflective readings
(4) Programmed instructional and modular learning material
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759980
Option 1 ID : 61547538913
Option 2 ID : 61547538914
Option 3 ID : 61547538915
Option 4 ID : 61547538916
Status : Answered
Chosen Option : 4
Q.22 When there is an animated discussion between a teacher and his or her students in the
classroom. it can be classified as :
(1 Horizontal communication (2) Mechanical communication
(3) Linear communication (4) Categorical communication
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759987
Option 1 ID : 61547538941
Option 2 ID : 61547538942
Option 3 ID : 61547538943
Option 4 ID : 61547538944
Status : Answered
Chosen Option : 3
Q.23
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What is the exact equivalent discount of three successive discounts of 10%, 15% and 20% by
zale of an article?
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(1) 35.8% (2) 38.5%
(3 35.5% (4) 38.8%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759996
Option 1 ID : 61547538977
Option 2 ID : 61547538978
Option 3 ID : 61547538979
Option 4 ID : 61547538980
Status : Answered
Chosen Option : 3
Q.24 According to classical Indian school of logic, what is the correct sequence of steps involved in
Anumana (influence)?
(1 Upanaya. Pratijr;a . Hetu, Udaharana . Nigmana
(2) Pratij:;a, Hetu, Upanaya. Udaharana . Nigmana
(3 Pratij;la . Upanayva. Hetu, Udaharana . Nigmana
(4) Pratij;a . Hetu, Udaharana . Upanaya. Nigmana
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510001
Option 1 ID : 61547538997
Option 2 ID : 61547538998
Option 3 ID : 61547538999
Option 4 ID : 61547539000
Status : Answered
Chosen Option : 2
Q.25 . . . . . . .
‘Which of the learning outcomes are intended 1n teaching orgamzed at understanding level?
(1) Longer recall and retention of facts
(2) Seeking of relationships and patterns among facts
(3) Creative construction and critical interpretation of ideas
(4) Mastery of facts and information
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 6154759977
Option 1 ID : 61547538901
Option 2 ID : 61547538902
Option 3 ID : 61547538903
Option 4 ID : 61547538904
Status : Answered
Chosen Option : 2

Comprehension:

https://cdn.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083019256/2083019256S5D66266/15755806514506458...

9/75



12/10/2019 https://cdn.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083019256/2083019256S5D66266/157558....

The following table gives the percentage of marks obtained by 6 students in 5 different
subjects in an examination. The numbers in the parenthesis give the maximum marks in
each subject. Answer the given guestions based on the table :

Subject (Max. Marks) Percentage (%) of marks cbtained

Name of - - : :

studant Maths | Chemistry | Physies Biology Englizh
(150) (130) (120) (100) (100)

Ankit 90 50 30 G0 70

Amar 100 60 70 40 80

Sanya 90 60 85 80 60

Rahul 80 75 [i5] 90 90

Puneet 80 80 70 85 50

Pogja 70 75 50 80 40

SubQuestion No : 26
Q.26

What was the aggregate of marks obtained by Sanya in all the five subjects?
(1) 375 (2) 395
(3) 455 (4) 475
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 61547510004
Option 1 ID : 61547539005
Option 2 ID : 61547539006
Option 3 ID : 61547539007
Option 4 ID : 61547539008

Status : Answered

Chosen Option : 1

Comprehension:

The following tahle gives the percentage of marks obtained by 6 students in 5 different
subjects in an examination. The numbers in the parenthesis give the maximum marks in
each subject. Answer the given gquestions based on the table :

Subject (Max. Marks) Percentage (%) of marks cbtained

Name of : : : :

studarit Maths | Chemistry | Physies Biology English
(150) (130) (120) (100) (100)

Ankit 90 50 30 G0 70

Amar 100 60 70 40 80

Sanya 90 60 85 80 60

Rahul 80 75 63 90 90

Puneet 80 80 70 85 50

Pooja 70 75 50 80 40

SubQuestion No : 27

Q.27 . ;
What 1s the overall percentage of marks obtained by Amar?

1) 70% @  72%
(3)  60% (4) 58.33%

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510003
Option 1 ID : 61547539001
Option 2 ID : 61547539002
Option 3 ID : 61547539003
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Option 4 ID : 61547539004
Status : Answered
Chosen Option : 4

Comprehension:

The following table gives the percentage of marks obtained by 6 students in 5 different
subjects in an examination. The numbers in the parenthesis give the maximum marks in
each subject. Answer the given guestions based on the table :

Subject (Max. Marks) Percentage (%) of marks cbtained

Name of - - : :

studant Maths | Chemistry | Physies Biology Englizh
(150) (130) (120) (100) (100)

Ankit 90 50 80 G0 70

Amar 100 60 70 40 80

Sanya 90 60 85 80 60

Rahul 80 75 [i5] 90 90

Puneet 80 80 70 85 50

Pogja 70 75 50 80 40

SubQuestion No : 28

Q.28 i 5 7
How many students obtained 60% and above marks in all the subjects?

(1) Three (2)y Two
(3) One (4) Zero

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510006
Option 1 ID : 61547539013
Option 2 ID : 61547539014
Option 3 ID : 61547539015
Option 4 ID : 61547539016

Status : Answered

Chosen Option : 1

Comprehension:

The following table gives the percentage of marks obtained by 6 students in 5 different
subjects in an examination. The numbers in the parenthesis give the maximum marks in
each subject. Answer the given questions based on the table :

Subject (Max. Marks) Percentage (%) of marks cbtained

Name of - : : 3

bt Maths | Chemistry | Physies Biology Englich
(150) (130) (120) {100y (100)

Anlait 90 50 50 60 70

Amar 100 60 70 40 80

Sanya 90 60 85 80 60

Rahul 80 75 [ils] 90 90

Puneet 80 80 70 85 50

Pogja 70 iis] 50 80 40

SubQuestion No : 29

Q.29 : . 5 3 3
What 12 the average marks obtained by all the six students in Chemistry?

(1)  86.66 (2) 76.66
(3)  66.66 4) 60.00

Options 1. 1
2.2
3.3
4.4

I l
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Question Type : MCQ
Question ID : 61547510005
Option 1 ID : 61547539009
Option 2 ID : 61547539010
Option 3 ID : 61547539011
Option 4 ID : 61547539012
Status : Answered
Chosen Option : 3
Comprehension:
The following table gives the percentage of marks obtained by 6 students in 5 different
subjects in an examination. The numbers in the parenthesis give the maximum marks in
each subject. Answer the given questions based on the table :
Subject (Max. Marks) Percentage (%) of marks cbtained
Name of : : , 3
bt Maths | Chemistry | Physies B_Iolog'j.’ Englich
(150) (130) (120) (100) (100)
Ankit 90 50 80 G0 70
Amar 100 60 70 40 80
Sanya 90 60 85 80 60
Rahul 80 75 G5 90 90
Puneet 80 30 70 85 50
Pogja 70 75 50 80 40
SubQuestion No : 30
Q.30
In which subject the performance of the students is worst in terms of percentage of marks?
(1) Chemistry (2) Physics
(3) Biology (4) English
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510007
Option 1 ID : 61547539017
Option 2 ID : 61547539018
Option 3 ID : 61547539019
Option 4 ID : 61547539020
Status : Answered
Chosen Option : 1
Q.31 . . .
The national agency for responding to computer security incidents as and when they occur.
is
() CAT (2) CDAC
(3) CCA (4 ICERT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510012
Option 1 ID : 61547539037
Option 2 ID : 61547539038
Option 3 ID : 61547539039
Option 4 ID : 61547539040
Status : Answered
Chosen Option : 4
Q.32
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The most dominant source of Benzene emissions in ambient air is
(1) Cement industry (2) Cigarettes
(3) Car exhausts (4) Paints and varnish
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510016
Option 1 ID : 61547539053
Option 2 ID : 61547539054
Option 3 ID : 61547539055
Option 4 ID : 61547539056
Status : Answered
Chosen Option : 1
Q.33 The most important pollutants that cause degradation of water quality in rivers and streams
are
(a) Bacteria
(b) Nutrients
(c) Metals
(d) Total dissolved solids
(e) Algae
Choose the most appropriate answer from the options given below :
(1) (a). (b) and (c) (2) (a). (b) and (d)
(3) (a), (b), (d) and (e) (4) (a). (b). (e), (d) and (e)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510017
Option 1 ID : 61547539057
Option 2 ID : 61547539058
Option 3 ID : 61547539059
Option 4 ID : 61547539060
Status : Answered
Chosen Option : 3
Q.34 The major barriers for access to hisher education in India are :
(a) more opportunities of emplovment for less educated
ih) government policies
ic) language of instruction
(d) economic status
(e) competition from foreign universities
(f) gender discrimination in society
Choose the correct answer from the options ziven below :
(1) (a), (b) and (c) (2)  (h) (c)and (e)
(3) (). (d) and () (4) (d). (e) and ()
Options 1. 1
2.2
3.3
4.4
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Question Type : MCQ
Question ID : 61547510019
Option 1 ID : 61547539065
Option 2 ID : 61547539066
Option 3 ID : 61547539067
Option 4 ID : 61547539068
Status : Answered
Chosen Option : 3
Q.35
Which of the following statements is true in the Indian context?
(1) Autonomous colleges can grant degrees independent of universities
(2) Autonomous colleges can grant only bachelor’s degree independent of universities
(3) Except doctoral degrees, all other degrees and diplomas can he granted by
autonomous colleges
(4) Whatever may be the degree or diploma. autonomous colleges ecan grant them under
their own name but under the seal of an affiliated university
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510021
Option 1 ID : 61547539073
Option 2 ID : 61547539074
Option 3 ID : 61547539075
Option 4 ID : 61547539076
Status : Answered
Chosen Option : 4
Q.36
Which one of the following tasks is associated with changing appearance of a document in
word processing?
(1) Editing (2) Formatting
(3)  Writing (4) Printing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510008
Option 1 ID : 61547539021
Option 2 ID : 61547539022
Option 3 ID : 61547539023
Option 4 ID : 61547539024
Status : Answered
Chosen Option : 2
Q.37 i : ; 3
According to GATS (General Agreement on Trade and Services), higher education should be
a commodity in the
(1) domestic public sector (2) domestic private sector
(3) non-trading sector (4) global marketplace
Options 1. 1
2.2
3.3
4.4
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Question Type : MCQ
Question ID : 61547510020
Option 1 ID : 61547539069
Option 2 ID : 61547539070
Option 3 ID : 61547539071
Option 4 ID : 61547539072
Status : Answered
Chosen Option : 4
Q.38
Identify from the options given below. the co-benefit of Montreal Protocol
(1) Impetus to development of energy efficient systems
(2) Reduction in carbon dioxide (equivalent) emissions
(3) Convergence of efforts of international community in addressing air pollution
(4) Control of transboundary movement of hazardous waste
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510013
Option 1 ID : 61547539041
Option 2 ID : 61547539042
Option 3 ID : 61547539043
Option 4 ID : 61547539044
Status : Answered
Chosen Option : 2
Q.39 ynder Green India Mission. how many hectares of degraded forest land 1s to be brought
under afforestation?
(1) 02 million hectares {2) 06 million hectares
(3) 08 million hectares (4) 20 mllion hectares
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510014
Option 1 ID : 61547539045
Option 2 ID : 61547539046
Option 3 ID : 61547539047
Option 4 ID : 61547539048
Status : Answered
Chosen Option : 4
Q.40 )
The term one gigabyte refers to :
(1) 1024 petabytes (2) 1024 megahytes
(3) 1024 kilobytes (4) 1024 bytes
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
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Question ID : 61547510009
Option 11D : 61547539025
Option 2 ID : 61547539026
Option 3 ID : 61547539027
Option 4 ID : 61547539028
Status : Answered
Chosen Option : 2
Q.41 .
The themes of some Sustainable Development Goals are
(a) Climate action
(b) Sustainable cities and communities
(c) Peace. juatice and strong institutions
(d) Skill development and decent employment
(e) Green agriculture
(£) Responsible consumption and production
Choose the most appropriate from those given below :
(1) (a). (b). (). (e) and (f)
(2 (b). (c). (e) and (£
(3) {(b). (c). (d). (e) and (f)
(4) {(a). (b), (c) and (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510015
Option 11D : 61547539049
Option 2 ID : 61547539050
Option 3 ID : 61547539051
Option 4 ID : 61547539052
Status : Answered
Chosen Option : 4
Q.42 ; : 5, 3 ; :
1s a wireless technology built in electronic gadgets for transferring data over
short distance
1)  WiFi (2) Bluetooth
(3)  Modem (4) USB
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510010
Option 11D : 61547539029
Option 2 ID : 61547539030
Option 3 ID : 61547539031
Option 4 ID : 61547539032
Status : Answered
Chosen Option : 2
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Q.43
PCI stands for
(1) Partial Component Interconnect (2) Partial Component Interaction
(3) Peripheral Compeonent Interconnect (4) Peripheral Component Interaction
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510011
Option 1 ID : 61547539033
Option 2 ID : 61547539034
Option 3 ID : 61547539035
Option 4 ID : 61547539036
Status : Answered
Chosen Option : 4
Q.44
Database WOS stands for
(1) Web of Science (2) Web of Sources
(3) World of Science (4) Web of Service
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510018
Option 1 ID : 61547539061
Option 2 ID : 61547539062
Option 3 ID : 61547539063
Option 4 ID : 61547539064
Status : Answered
Chosen Option : 3
Q.45 ; : ; ; ; 2o 3 3
Rashtriva Uchhatar Shiksha Abhiyan (RUSA) aims to achieve the following in Higher
Education System :
(a) Equity
(b) Access
€  50% GER
(d) Excellence
Choose the correct option from those given below :
(1)  (a), (b) and (c)
2) (a). (c) and (&)
(3) (a), (b) and (d)
(4) (b). (c) and (d)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510022
Option 1 ID : 61547539077
Option 2 ID : 61547539078
Option 3 ID : 61547539079
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Option 4 ID : 61547539080
Status : Answered
Chosen Option : 3

Comprehension:

Read the passage carefully and answer gquestions that follow :

There is no doubt that the market as a reality and political economy as a theory plaved an
important role in the liberal critique. But liberalism is neither the consequence nor the
development of these; rather, the market playved. in the liberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of exceasive governmentality
and even weigh their significance: the analysis of the mechanisms of “dearth” or more
generally. of the grain trade in the middle of the eighteenth century. was meant to show the
point at which governing was always governing too much. Therefore. an anlaysis to make
visible. in the form of evidence. the formation of the value and circulation of wealth—or. on
the contrary. an analysis pre-supposing the intrinsic invisibility of the connection hetween
individual profit-seeking and the growth of collective wealth—economics, in any case. shows a
basic Incompatibility between the optimal development of the economic process and
maximisation of government procedures. It iz by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the "reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed it at the limit of governmental action. Liberalism does not derive from juridical
thought any more than it does from an economic analysis. It is not the idea of a political
society. but the result of search for a liberal technology of government.

SubQuestion No : 46

Q.46
The passage 1s indicative of the author’s preference to
(1) economic hegemony of individuals
(2) limit government control of economics
(3) seek hiberalism from juridical thought
(4) promote iIndividual profits
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 61547510028
Option 1 ID : 61547539097
Option 2 ID : 61547539098
Option 3 ID : 61547539099
Option 4 ID : 61547539100

Status : Answered

Chosen Option : 1

Comprehension:
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Read the passage carefully and answer gquestions that follow :

There is no doubt that the market as a realitv and political economy as a theory plaved an
important role in the liberal critigue. But Liberalism is neither the consequence nor the
development of these; rather, the market playved. in the liberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of exceasive governmentality
and even weigh their significance; the analysis of the mechanisms of “dearth” or more
generally. of the grain trade in the middle of the eighteenth century. was meant to show the
point at which governing was always governing too much. Therefore., an anlaysis to make
visible. in the form of evidence. the formation of the value and circulation of wealth—or. on
the contrary. an analysis pre-supposing the intrinsic invisibility of the connection hetween
individual profit-seeking and the growth of collective wealth—economics. in any case. shows a
bhasic incompatibility between the optimal development of the economic process and
maximisation of government procedures. It is by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the "reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed it at the limit of governmental action. Liberalism does not derive from juridical
thought any more than it does from an economic analysis. It is not the idea of a political
society. but the result of search for a liberal technology of government.

SubQuestion No : 47

Which of the following played a role in the liberal critique?

) Liberalism as a consequence of market forces
) Liberalism as an offshoot of political economy

(3) EReality of market
)

Political economy as a practice

Options 1. 1

2.2
3.3
4.4

Status

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Chosen Option :

McQ

61547510024
61547539081
61547539082
61547539083
61547539084

: Answered

3

Q.48

https://cdn.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083019256/2083019256S5D66266/1575580651450645...

Comprehension:

Read the passage carefully and answer gquestions that follow :

There is no doubt that the market as a reality and political economy as a theory plaved an
important role in the liberal critique. But liberalism is neither the consequence nor the
development of these; rather, the market playved. in the liberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of exceasive governmentality
and even weigh their significance: the analysis of the mechanisms of “dearth” or more
generally. of the grain trade in the middle of the eighteenth century. was meant to show the
point at which governing was always governing too much. Therefore. an anlaysis to make
visible. in the form of evidence. the formation of the value and circulation of wealth—or. on
the contrary. an analysis pre-supposing the intrinsic invisibility of the connection hetween
individual profit-seeking and the growth of collective wealth—economics, in any case. shows a
basic Incompatibility between the optimal development of the economic process and
maximisation of government procedures. It iz by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the "reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed it at the limit of governmental action. Liberalism does not derive from juridical
thought any more than it does from an economic analysis. It is not the idea of a political
society. but the result of search for a liberal technology of government.

SubQuestion No : 48
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What kind of evidence was needed to make the liberal critique visible?

1) Circulation of wealth (2) Pre-supposing individual profit
(3) Dearth in supply of grain (4) Incompatibility of growth

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510026
Option 1 ID : 61547539089
Option 2 ID : 61547539090
Option 3 ID : 61547539091
Option 4 ID : 61547539092

Status : Answered

Chosen Option : 1

Comprehension:

Read the passage carefully and answer gquestions that follow :

There is no doubt that the market as a reality and political economy as a theory playved an
important role in the liberal eritigue. But liberalism is neither the consequence nor the
development of these; rather, the market plaved. in the liberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of excessive governmentality
and even weigh their significance: the analysis of the mechanisms of “dearth” or more
generally. of the grain trade in the middle of the eighteenth century. was meant to show the
point at which governing was always governing too much. Therefore., an anlaysis to make
visible. in the form of evidence. the formation of the value and circulation of wealth—or. on
the contrary. an analysis pre-supposing the intrinsic invisibility of the connection hetween
individual profit-seeking and the growth of collective wealth—economics. in any case. shows a
basic incompatibility between the optimal development of the economic process and
maximisation of government procedures. It iz by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the “reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed it at the limit of governmental action. Liberalism does not derive from juridical
thought any more than it does from an economiec analysis. It is not the idea of a political
society. but the result of search for a liberal technology of government.

SubQuestion No : 49

Q.49 - . . y .
What 12 incompatible with optimal economic development?
(1) Play of ideas
(2) Abszence of commercialism
(3) Political society
(4) Excessive government procedures
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510027
Option 1 ID : 61547539093
Option 2 ID : 61547539094
Option 3 ID : 61547539095
Option 4 ID : 61547539096
Status : Answered
Chosen Option : 4
Comprehension:
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Read the passage carefully and answer gquestions that follow :

There is no doubt that the market as a realitv and political economy as a theory plaved an
important role in the liberal critigue. But Liberalism is neither the consequence nor the
development of these; rather, the market playved. in the liberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of exceasive governmentality
and even weigh their significance; the analysis of the mechanisms of “dearth” or more
generally. of the grain trade in the middle of the eighteenth century. was meant to show the
point at which governing was always governing too much. Therefore., an anlaysis to make
visible. in the form of evidence. the formation of the value and circulation of wealth—or. on
the contrary. an analysis pre-supposing the intrinsic invisibility of the connection hetween
individual profit-seeking and the growth of collective wealth—economics. in any case. shows a
bhasic incompatibility between the optimal development of the economic process and
maximisation of government procedures. It is by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the "reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
they placed it at the limit of governmental action. Liberalism does not derive from juridical
thought any more than it does from an economic analysis. It is not the idea of a political
society. but the result of search for a liberal technology of government.

SubQuestion No : 50

Q.50 ; s ; : 2 i
The liberal critique examined the implications of

(1) market expansion (2) too much governance

(3) growth of political economy (4) politics of marketisation

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 61547510025
Option 1 ID : 61547539085
Option 2 ID : 61547539086
Option 3 ID : 61547539087
Option 4 ID : 61547539088

Status : Answered

Chosen Option : 3

Section : PART Il Urdu
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510043
Option 1 ID : 61547539157
Option 2 ID : 61547539158
Option 3 ID : 61547539159
Option 4 ID : 61547539160
Status : Answered
Chosen Option : 2
Q.2
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510100
Option 1 ID : 61547539385
Option 2 ID : 61547539386
Option 3 ID : 61547539387
Option 4 ID : 61547539388
Status : Answered
Chosen Option : 1
Q.3
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510050
Option 1 ID : 61547539185
Option 2 ID : 61547539186
Option 3 ID : 61547539187
Option 4 ID : 61547539188
Status : Answered
Chosen Option : 3
Q.4
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510031
Option 1 ID : 61547539109
Option 2 ID : 61547539110
Option 3 ID : 61547539111
Option 4 ID : 61547539112
Status : Answered
Chosen Option : 4
Q.5
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510091
Option 1 ID : 61547539349
Option 2 ID : 61547539350
Option 3 ID : 61547539351
Option 4 ID : 61547539352
Status : Answered
Chosen Option : 1
Q.6
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510053
Option 1 ID : 61547539197
Option 2 ID : 61547539198
Option 3 ID : 61547539199
Option 4 ID : 61547539200
Status : Answered
Chosen Option : 1
Q.7
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510093
Option 1 ID : 61547539357
Option 2 ID : 61547539358
Option 3 ID : 61547539359
Option 4 ID : 61547539360
Status : Answered
Chosen Option : 2
Q.8
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
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Question ID : 61547510044
Option 1 ID : 61547539161
Option 2 ID : 61547539162
Option 3 ID : 61547539163
Option 4 ID : 61547539164
Status : Answered
Chosen Option : 4
Q.9
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510110
Option 1 ID : 61547539425
Option 2 ID : 61547539426
Option 3 ID : 61547539427
Option 4 ID : 61547539428
Status : Answered
Chosen Option : 3
Q.10
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Question Type : MCQ
Question ID : 61547510113
Option 1 ID : 61547539437
Option 2 ID : 61547539438
Option 3 ID : 61547539439
Option 4 ID : 61547539440
Status : Answered
Chosen Option : 1
Q.11
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 61547510089
Option 1 ID : 61547539341
Option 2 ID : 61547539342
Option 3 ID : 61547539343
Option 4 ID : 61547539344
Status : Answered
Chosen Option : 3
Q.12
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Question Type : MCQ
Question ID : 61547510065
Option 1 ID : 61547539245
Option 2 ID : 61547539246
Option 3 ID : 61547539247
Option 4 ID : 61547539248
Status : Answered
Chosen Option : 1
Q.13
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